1. HIAEYF ABCD A F tiZ-Ade] w¥-S O 2 stal, LACB =
30°, «CBD = 15° tx7 &t of], LAOB 2] 7|2

@D 25° ® 30° 3 35° @ 40° (3) 45°



2. o= 22 FIAPEFABCD oA x & 2717

@D 59° ® 62° B 118° @ 121° ® 125°



3. t= 1" E2 0ABCD 7} HAAPHY O] H 5 Sk x, y o] g7

® x=8,y=20° @ x=10, y=20°
® x=10, y=135° @ x=8, y=135°

® x=10, y=25°



)

o

dHAA Aol &

O
j )

=

4.

@ ¥l e Zol7} et

tzte] 27)7} e,

u-

Tod



5. o2 Id"o|4 oABCD += Attha]&Eolth. AABC = 80cm? , ADOC =
30cm? ¥ o], AOBC 9] ¥lo]=?

A D

@ 20cm?2 @ 30cm? ® 40cm?

@ 50cm? 3B 60cm?2
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[7}4] ABCD ©4 AB //DC, AD //BC

S = /C, /B=/D

(%] 4 A%t H CE o]o™ AABD @ ACDB oA
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/T// ol2& /BAC = /DCA---©

AD//BColE&[ = |=/DAC---©®
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A2, 90° @ 342, 180°

A, 180° @ TR, 90°
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® "F=R. 180°



o2 194 oBDEC 9] Hlo]+= 40cm? |11, AADE 2] Y o]= 16cm?
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A B > C

@ 24cm? @ 26cm? 3@ 28cm?

@ 30cm?2 3) 32cm?2



10. ARz ABCD °l4 A M, N2 AB, BC 9] F4°|th. OABCD =
50cm® & ™, oMBND 9] ‘gol& -5t ?

A D
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@ 12.5cm? @ 20cm? 3@ 25cm?

@ 27.5(‘,1112 @ 30Cm2
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@® AB=CD, AB//CD

@ AD//BC, /A = /B =90°
® (A =/C,/B=/D

@ AB=CD, AD =BC

® AB//CD, AD//BC
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@D 2cm? ® 3cm? ® 4cm? @ 5cm? ® 6cm?
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14. g 293 22 A7k ABCD oA AB//FEY o, Hel7t £

D 178 2 2 B} & @ 4% B %
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@ 120cm? @ 128cm? @ 132cm?
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